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MODEL QUESTION PAPER-1

Subject: Mathematics Subject code: 81E

Time : 3 hours Max.marks: 80

l. In the following questions four choices are given for eacthgquestion

chose and write correct answer along with its alphabet:

1. HCFof 6 & 20 is ....
a.l b. 30 c. 60 d. 2

. If Cos A=%, then the value of Sin A is

a. 4 b.\/; c. V3 d. 1

. Secant touches the circle .... Times.
a. 2 b.3 c.4 d. 1
. Which of the following form@lato use tofind the volume of cone.

a. g Tr?h b. Tr2h e ATV d. % T2
. If an=4,-2, then the value of a; IS..
a. 8 b. 14 c. 10 dy6
. INnALMN,£L=50° and"2N=60°. If ALMN~APQR, then find £Q.
a. 70° b. €02 b.190° d. 180°
. The probability ‘of sure‘event is ...........
a. 0 b. N\ c. 0.5 d. 0.65
. The roets of theyequation x2+x—(p+1)=0, where p is a constant, are

a. P, p*l b. -p,p+1 c.p.—(p+1l) d.-p,-(p+1)
Answer the following questions 1 x8 =8
9. Show that x=-3 is a solution of x?+6x+9=0.
10. Find the value of k in which one root of the quadratic equation is kx?-
14x+8=0 is six times the other.
11. If the 10t term of an A.P is 20 & common difference is 2, then find the
4% term.
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. State Pythagoras theorem.
Express 140 as its product of prime factors.

If sec A=1—75, & A+B=909°, then find the value of Cosec B.
Find : sin230%cos260°.
. Volume and surface area of the solid hemisphere are numerically
equal. What is the diameter of the hemisphere?.
lll.  Answer the questions 2x8=10

17. Prove that /3 is an irrational number.

18. Solve x+y=5 & 2x-y=7.

19. Find the value of p, for which one root of the quadratic equation
px2—14x+8=0 is 6 times the other.

20. Find the distance between the points, A(2a,6a)%and
B(2a+V3a,5a).

21. Eisapoint on the side AD produged of a parallelogram ABCD and

BE intersects CD at F. Show that AABE~ACFB.

OR

In the figure given belew, DEIIBC. If AD=2.4 cm,DB=3.6 cm and
AC=5 cm Find AE«

D E

Two cubieal'dice whose faces are numbered from 1 to 6 are rolled
simultaneously once. Find the probability that the sum of the two
numbers decurring the top of the face is 6.

Construct a pair of tangents to the circle of radius 4.5cm from an
external point 5.5cm from the circle.

Find the value of cosec30°, geometrically.
OR

If A,B,C are interior angles of AABC, then show that
A

2

cos(%)=sin
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Solve the following problems 3x9=27

25. A number consists of two digits. When the number is divided
by the sum of its digits, the quotient is 7. If 27 is subtracted
from the number, the digits interchange their places. Find the
number.

OR

The sum of two numbers is 8. Determine the numbets if the

sum of their reciprocals is 135.
26. If the polynomial 6x*+8x3—5x2+ax+b is éxactly“divisible by
the polynomial 2x2—5, then find the value of adand b
27. If the equation (14+m?)x24+2mcx+c2—a2=0shas equal roots then
show that c2=a2(1+m?).
OR
If the sum of two natural numbers#isg afid their productis 15,
find the numbers.
28. The vertices of a triarfgle are A(=1,3),B(1,—1) and C(5,1).
Find the length of the median thtrough the vertex C.
OR

Find the coordinates of the*points of trisection of the line
segment joining theypoints (3,—2) and (—3,—4).

Prove that “the tangents drawn from an external point to the
circle aretegual™

Thiree semicircles each of diameter 3 cm, a circle of diameter
4.5 ¢ and a’Semicircle of radius 4.5 cm are drawn in the given
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31. Draw less than ogive for the given data:

Find the area of the minor segment of a circle of radius 42 cm, if
the length of the corresponding arc is 44 cm.

C.I

45-55

55-65

65-75

75-85

85-95

f

3

10

11

8

3

nd the mean value for th

e given data:

C.I

0-10

10-20

20-30

30-40

40-50

f

3

5

9

5

3

33. Draw base BC=5cm, construct a triangle to ifaf LABC=609, &
LACB=700. Construct another triangle similar tojit with % th of

the corresponding sides.

Solve 4x4=16

34. Solve pair of linear equations gmaphically :%;2y=0 &
3x+4y=20.

35. The sum of first six terms of an arithmetic progression is 42.
The ratio of its 10th tepm tits 30thsterm is 1:3. Calculate the
first and the thirteenth ternpwef.the A.P.

OR
The sum of théfirst Sixteen terms of an A.P. is 112 and the sum
of its next fourteen tefims is 518. Find the A.P.

36. A moving Beat is observed from the top of a 150 m high cliff
movingaway fgontthe cliff. The angle of depression of the boat
changesMromn60°to 45° in 2 minutes. Find the speed of the
bQat in m/h.

37 o Statetand@rove B.P.T(Basic proportionality theorem).

VI. Solvethe\given problem 5x1=5

38. A%gy is in the form of a hemisphere surmounted by a right

circular cone of the same base radius as that of the hemisphere.

[f the radius of base of the cone is 21 ¢m and its volume is gof

the volume of the hemisphere, calculate the height of the cone
and the surface area of the toy.
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